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Assignment - 1
Numbers up to 1000

Find the successor of 3- digit number. Is it the smallest 4- digit number?

Find the difference between the place value of two fives in 7505?

Write the greatest & smallest number with digits 4,0,9,7 ?

Fill in the blanks:-

(a) The predecessor of 8000 is

(b) 9030 can be written as + +

(c) The smallest natural number is

(d) 1000 is the successor of

(e) is the smallest whole number.
Put the sign

(@)2001 [ ] 2000+1

(b) 1086 ] 1068

(c)8924 — 8429

Arrange in descending order:-

1859, 6251, 1598, 2651, 6521

Circle the even numbers?

2468, 6535, 1116, 7531, 9892, 9209, 6567, 5244, 8000
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Assignment-— 2
Addition
Fill in the blanks:

(a) The number 600 more than 9,400 is

(b) The numbers which are being added are called

(c) Answer of an addition operation is called the
What number do you add to the greatest 3 — digit number to get the sum as the smallest 4-

digit number?

A number exceeds 6897 by 2478. What is that number?

Fill in the blanks:

(a) 1008 + 999 + 1066 = + 999 + 1066.
(b) + 3716 = 3716.

(C) (4357 + 1625) + 1595 = (1625 + )+ 1595,

What is the sum of the smallest 4 — digit number and the smallest 3 — digit number?

The difference between two numbers is 1876. If the smaller number is 7948, find the

larger number?

The numeral for6 hundreds, 6 tens and 6 ones is

Find the sum of 1368, 2452 and 1073?
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Assignment— 3
Roman Numeral

Write the Roman Numeral:

(a) 48 -

(b) 95 i

(c) 22 -

(d) 67 i

(e) 83 -

(f) 35 -

(9) 89 -

(h) 28 -

Put the sign

(a) 28 XXIV

(b) 39 XXXI

(c) 42 XLII

(d) 98 LXXXVII

Solve and write the answer.
(@) VI + XXVII

(b) L + XI

(c)C—LVII

(d) XXX — XII
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Assignment— 4

Subtraction
The sum of two numbers is 2894. If one of them is 1750, find the other number?

Find the difference between the largest and smallest of 4 — digit numbers formed using
the digits 2,5,7,0.

Fill in the missing numerals:-

In a colony there are 750 houses 125 are vacant. How many houses are occupied?

At a certain examination, 8320 students appeared. Out of these 6548 could get through.

How many failed?

The difference between smallest 6- digit number and the greatest 5- digit number?

The successor of a number is 10,000. What is the number?

3090 people visited a fair. 1765 were men, 893 were women. How many were children?



